
 

Full 2015

8 Uncw.tl hi f what eiwd

It 17 fine un o

I lw.tk Ccw e
wt

U Win f w Cary

Unhitt Icy e int

Ult't Lj fcwg.ee iwt.e iwxdw

L ftp.e iwct 7t
d w

f x It



9 U Iho t demo Gits

0 0

g
di

G
Git

09 tip O

0 1.07 0

104,0 Kir no

a firk
Tat E o

O

107 Muto

ul 77 47 m n2
l T V T co g si no

S h Gh I 0 I 2

Ker In far

12113 0 fl 7am



GH nsrxtgytzgrnsinratlsinr.itFarhat
wir O o 1 0

Uft Or I 2 Tsp o tomb

c w

Ucr 0,1 1 2 tmz Totton's sinctontme

only h o terms left because

5 if



Fall 2016

8 The same as problem 9 in

2015 Fall Final

1 w

Ucr 0,71 I th Telton'T Sinh ontm I

9 Inhomogeneous Bcs
4 X satisfies
Uo 01 0

I
x

W x f Glx f VI ex

Wt wxxte tsis.in
wCo.t1
oWLl.t1o



WIX o X 3X 2x

Eigenfunction expansion

g
4 1 7 10 1 2

0 1 1 0 117 0

nlx7 Sin hTx do Chi 2

two

WIX f 2 An Ct fact
7 1

Wt Wxyt e Sin 2

An It 471 An n 1 22

Hilt 12 22 Hate t

Amit e M't't
Cn HEL

Anto f 2X Sink ix

11 1
htt



An it e t
x D is

Hilt c e t
1 Ca et

T
C e

t

ice
t
ie t

1

2712 1

Arlt e t G e
t Tt

z Halo t

1247 I

112172
I

As its e
t e it



Too MIF
U Ix it I 54,4 17h D Sinlnax e

n FL
n I

tsinhaxff.T.e
t

fj.ie
13 X



Problem 7Fall 2017 Find UE Hit

Ol Ut Uexx Tx

iii it o

4 11 D t

UE Xt

WIX it U UE

W satisfies

wt Wxx t 2e sin

W o t so
I

in

Use eigenfunction expansion
too

Wcxity I Ault Sin Tix
n

An It tµ p j Ault O att
UK initial condition to determine An HD



Hilt t TEI A its tee t

Guess the solution

A its C te t
c

t

Then C e
t
t t c II e It

1 FI te t
e I't

So C 2 Use Initial coalition to
determine C

I
fo the solution WIX't 2tsinife at

s sin
e

t

U'x t wlx.tl txt


